Name:

C Weight )

1 pound = 16 ounces Abbreviation for pounds = Ib
1 ton = 2,000 pounds Abbreviation for ounces = oz.

Abbreviation for tons =T

251b= oz. 25T7T= lb
16 0z. + 16 0z. + 8 0z. = 40 oz. 2,000 Ib + 2,000 b + 1,000 Ib = 5,000 Ib
2.51b =40 oz. 2.5T7=15,000 b
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7. Which weighs more: 3.5 pounds of butter or 60 ounces of butter? Explain.

8. Which weighs more: 2.5 pounds of rocks or 40 ounces of feathers? Explain.
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ANSWER KEY

C Weight >

1 pound = 16 ounces Abbreviation for pounds = Ib

1 ton = 2,000 pounds Abbreviation for ounces = oz.

Abbreviation for tons =T

Which weighs more: 2.5 pounds of rocks or 40 ounces of feathers? Explain.

They both weigh the same amount. H0 ounces equals 2.5 pounds.
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